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( * respond to time *)
fur respond ( m : model) : model =

Case m of

Red ⇒ Green
1 Yellow⇒ Red

1 Greer⇒ Yellow
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respond view

initia.IS/-ateEntuNamefunview(m:modeD:striy--Case m of
EnterNone#

"

Please enter your name :
"

I EnterPassword (name)⇒"

Hi " ^ nomen

I LoggedIn(name)⇒
" Please ertr password : "

"

welcome" ^ name ^ : - - "



fun respond ( m : model
, input : string) :model=
-

Case m of

EnterNone⇒ EnterPas¥(input)
\ Enter Password figure⇒ ' password

( Cee ¥%ipt)oftrue⇒ Logged In(none)
( false⇒ Enter Name )-

I LoggedIn(none)⇒ .
. .
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fun zip (l;④ list
, lz : list) :ÉÉ¥Ñ

cat 1h
, b)off[3
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fun append ( l i. 'a ☆ ist
, lz : 'a list) : 'a list=

Case &
,
of

c>⇒ lz

I xs⇒ × :: append (xs.la)Ee

append ( E. 2,33 ["a ", " b'7) = ?? ?^
la = in t
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